10.1 Practice - Function Notation

Solve.
1) Which of the following is a function?

a) b)

e) y=3x—7 f) 92 — a2 =

g) Vyt+tr=2 h) 224+ y%=1

Specify the domain of each of the following funcitons.

2) f(x)==5bz+1 3) flx)=+6—4z
4) s(t) =1 5) f(z) =22 — 3z — 4
6) s(t) = =y 7) f(x) =z 16
8) f(2) =5 0) h(z) = Y12

10 y(r) = 55



Evaluate each function.
11) g(z) =4z —4; Find ¢(0) 12) g(n)=—3-5""Find g(2)
13) f(z)=|3z+ 1|+ 1;Find f(0) 14) f(xz)=2?+4;Find f(—9)

15) f(n)=—2| —n—2|+1;Find f(—6) 16) f(n)=n—3;Find f(10)

17) f(t)=3"—2; Find f(—2) 18) f(a) —3°"'—3;Find f(2)
19) f(t)=|t+ 3|; Find f(10) 20) w(z) =2*+ 4x; Find w( - 5)
21) w(n) = 4n + 3; Find w(2) 22) w(z) = — 4z + 3; Find w(6)
23) w(n) =272 Find w( — 2) 24) p(z) = —|z[+ 1; Find p(5)
25) p(n) = — 3|n|; Find p(7) 26) k(a) =a+3;Find k(- 1)
27) p(t) = — 3+ t; Find p(4) 28) k(r)=—2-4>"2 Find k(2)
29) k(n) =|n — 1|; Find k(3) 30) p(t) =—2-4**""+1;Find p( - 2)
31) h(z) = 2%+ 2: Find h( — dz) 32) h(n) =4n+ 2; Find h(n + 2)
33) h(z) =3z + 2; Find h( — 1 + z) 34) h(a)=—3-2"% Find h(3)
35) h(t)=2| — 3t — 1| +2; Find h(n?) 36) h(z) =2+ 1;Find h(3)

37) g(z) =z + 1; Find ¢(3x) 38) h(t)=1>+t; Find h(t*)

39) g(x)=5%Find g(—3— =) 40) h(n) =5"""+1;Find h(3)

Beginning and Intermediate Algebra by Tyler Wallace is licensed under a Creative Commons
Attribution 3.0 Unported License. (http://creativecommons.org/licenses/by/3.0/)



10.1

Answers - Function Notation

1) a. yes b. yes c. no 14) 85 29) 2
d. no e. yes f. no
15
g. yes h. no ) ~ 30) %
16) 7
2) all real numbers . 31) — 64a3 +2
3) < 17) — 5
4
) 170 19) 13 33) —1+4+3x
5) allreal numbers .
20) 5 34) —3.2° %
6) allreal numbers 21) 11
7) x> 16 2) 35) 2| —3n?— 1| +2
8) v# 1,4 23)1 36) 1+ 152
9 x=4,245 24) — 37) 3w +1
10) #:£5 25) - 38) t* 412
11) —4 26) 2 s
3 39) 577
12) — 2 27) — 60
—24n
13) 2 28) — 32 40)5 2 +1
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